YRk 21 4 BE
Jm B K % 8 % %
BEI3IEREAFEFRER
it % #

£ AR £

p=fili}
|

YRk 2046 A 13 B (&)

wvm AW N =

B 11 B304

E 128 30%

BRERLOEE
ZOBERFORR—IIT 6 R—IU T,

RERRIL 2 KT,

ZERESIX, EERAKOFIEDCHNC, HTRALRIN,
fREX, MBI LICBERBOREDHATIZIA LRI,
BoAn L7 ARIE, BbH L TR ERA,




ZDOR—=IVITAKTH D,




. O)"\o‘—‘;/\\@j: E%&"G% 50




(1) ROFEXZTHEHA, BI~R4zEz &,

(Hi 84 : National Aeronautics and Space Administration (NASA), What is a laser?, Space Place,
http://spaceplace.nasa.gov/en/kids/laser/index.shtml & ¥ S L TikEY)

1 T#HE@)%E BABICRYE,
2 —Fﬁ%(‘b)}& B ARBIZRRE,

M3 THE(c)% B ARFBITRE,

B4 L—F—H D3> DR (monochromatic, coherent, collimated)%, I EFNFEIXIZH
ESWTHAETHAT X,
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Rl RO@~@DPFNFICTRT(1)BIU(L)OXBF LERICRD L 51T, ZM1)~(G)
ALK bEURETERALZE X X,

(a) (i) Therodis15cm long.

(i) Therodis 15cm [ (1) |length.

(b) (i) We must take account of the effect of noise.
(i ) We must take the effect of noise account.

(¢) (i) We have substituted word processors for typewriters.

(ii ) We have replaced typewriters word processors.

(d) (i) Ozone layer depletion results from a complex series of chemical reactions.
(i) A complex series of chemical reactions results ozone layer depletion.

(¢) (i) The synthetic yield of the compound was not dependent on temperature.
(i ) The synthetic yield of the compound was independent temperature.

Ri2 R1(a)~(e)P(i)DPXZEENEILHAEICRYE,

f3 D@~ ()DEBEAIIMEEERIZAVONIBEOLAHTH D, TN EN A AEICRYE,
(a) thermometer
(b) Erlenmeyer flask
(c) tweezers
(d) separatory funnel

(e) condenser




ZOR—VIRAKTH B,




